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Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Roll Number

Candidate Name

\Venue Name

Exam Date 01/03/2024

Exam Time 11:30 AM - 12:30 PM

Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q.1  Eight persons from Reena, Kavita, Raman, Umesh, Rohit. Vikas. Monika and Priya sit around a square table such thar
two persons sit in the each of the sides. All the persons are sitting facing the centre of the table. Reena sits on
the inumediate right of Rohit and they both sit on the same side. Monika faces the one who is second 1o the left of
Kavita. Monika is sitting fourth to the right of Reena. Two persons sit between Vikas and Umesh (when connted from

one side only) and Umesh is adjacent to Rohit. Only one person sits between Monika and Raman (when counted from
one side only). Who is sitting second 1o the right of Tmesh?

Ans X 1. Rohit
X 2. Monika
X 3. Kavita
« 4 Reena

Question ID : 264330190216
Option 1 ID : 264330744449
Option 2 ID : 264330744447
Option 3 ID : 264330744448
Option 4 ID : 264330744446
Status : Answered
Chosen Option : 4

Q2 1 the following question, select the missing number from the given series.

21, 66, 204, 621, 1875, 2
Ans X 1. 6008
X 2. 5700
3. 5640
X 4. 6005

Question ID : 264330187111
Option 11D : 264330732374
Option 2 ID : 264330732372
Option 3 ID : 264330732375
Option 4 ID : 264330732373

Status : Not Attempted and
" Marked For Review

Chosen Option : --
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Ans

Hew is the man related to the Raman?

X 1. Father's father
& 2.Son

& 3. Father

«” 4. Son's son

Q.3 Pointing to a man in a photo, Raman says, “He is the only son of the only davughter in law of my only son’s father”.

Question ID

Option 11D :

Option 2 ID

Option 31D :
Option 4 ID :
Status :

Chosen Option :

1 264330190154
264330744200
1264330744199
264330744198
264330744201
Answered

1

Ans

T-6+4x2+5=3

X 1. —and+, 4 and 2
X2 +and =, 4and35
X3 —and+, 7and 5
4 +and %, 6and 5

Q.4 By interchanging which two signs and two numbers the equation will be correct?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330190540
264330745743
264330745745
264330745742
264330745744
Answered

4

Ans

he coded as?
X 1. 96
X2 85
3 109
X 4. 9]

Q.5 Inacertain code language, if PERTURY s coded as '113' and DECEPTION is coded as '91", then what will WITNESS

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330192114
264330751812
264330751810
264330751811
264330751813
Answered

3
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Q.6

Ans

Select the option that is related to the fifth word in the same way as the fourth word is related to the third word, and the

second word is related to the first word.
Vadodara : Banyan City ; : Cuttack : Silver City : : Dhanbad :

X 1. Ruby City
« 2. Coal City
X 3. Pearl City
X 4. Diamond City

Question ID :

Option 1 1D

Option 3 ID

Status

264330192231

: 264330752278
Option 21D :

264330752281

1264330752280
Option 4 ID :

264330752279

: Not Answered
Chosen Option :
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Q.7

Ans

In the following question, select the figure which can be placed at the sign of question mark (7)

from the given alternatives.

A
S

=

b

P

ARN
X

SEEe

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330187135
264330732469
264330732470
264330732471
264330732468
Answered

4
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Q.8  Arrange the given words in the sequence in which they occur in the dictionary.

1. Biter

2=

. Bit

L

. Bitcoin
4. Bite
5. Birth

Ans X 1.3,2.4.5.1
2 52341
X3 52314
<4 32415

Question ID : 264330187081
Option 1 1D : 264330732254
Option 2 ID : 264330732255
Option 3 ID : 264330732252
Option 4 ID : 264330732253
Status : Answered
Chosen Option : 2
Q.9 If a mirror is placed on the line AB. then out of the option figures which figure will be the right image of the question
figure?
A
X E
A
<
]
Ans
A 4
X1 | A
| 2
v 2
X2 |w
B
2 2
V3 | A
>
¥
X4 | A
<
Question ID : 264330187397
Option 11D : 264330733518
Option 2 ID : 264330733516
Option 3 ID : 264330733517
Option 4 ID : 264330733519
Status : Answered
Chosen Option : 3
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Ans

language?

X 1. 440
X2 420
3 480
X 4. 510

Q.10 Inacertain code language, *FBI is coded as “324°, *“HFG' is coded as *1008°. Whar is the code for ‘TBD’ in that code

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330187344
264330733307
264330733305
264330733304
264330733306
Marked For Review
2

Qn

Select the option that is related to the fifth number-letter cluster in the same way as the fourth number-letter cluster is
related to the third number-letter eluater, and the second number-letrer cluater is related o the first number-letrar cluster.

FAMILY : EBLIKZ : GATHER : FBSIDS :: DINNER : 7

Ans X 1. CIMDSO
X 2. CJODMS
X 3. CMJODS
¥ 4 CIMODS
Question ID : 264330192232
Option 1 ID : 264330752284
Option 2 ID : 264330752285
Option 3 ID : 264330752282
Option 4 ID : 264330752283
Status : Answered
Chosen Option : 4
Q.12 sevengirls A\ B, C. X, Y. W and Z are sitting around a circular table facing opposite to the centre (not necessarily in the
same order). W is second to the left of X. W is the immediate neighbour of both B and C. Z is fourth to the left of B.Y
is not the immediate neighbour of C. Who is sitting on the immediate right of B?
Ans X 1. W
X2y
X3 A
¥4 X
Question ID : 264330192056
Option 11D : 264330751579
Option 2 ID : 264330751580
Option 3 ID : 264330751581
Option 4 ID : 264330751578
Status : Answered
Chosen Option : 4
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Q13 On folding the given die, which number will be opposite to the number 12?

12

316(9

15
18

Ans X' 1. |8
X209
¥ 3 15
X4 6
Question ID : 264330192285
Option 1 1D : 264330752494
Option 2 ID : 264330752497
Option 3 ID : 264330752496
Option 4 ID : 264330752495
Status : Answered
Chosen Option : 3
Q.14 1n the following question helow are given some statements followed by some eonchisions basad on those statemenrs.
Taking the given statements to be tine even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion(s) logically follows the given statements,
Statements:
L AIF are S.
II. Some S are R
Conclusions:
L Some R are not F.
II.NeSisE
II1. Some S ara not R.
Ans 1. Neither conclusion follows
A 2. All conclusion follows
A 3. Both conclusions I and III follows
X 4. Only conclusion IT follows
Question ID : 264330190217
Option 11D : 264330744451
Option 2 ID : 264330744452
Option 3 ID : 264330744450
Option 4 ID : 264330744453
Status : Answered
Chosen Option : 1
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AQM, ZPL. YORK, XNI. ?

Q.15 A series iz given with one term missing. Selact the correct alternative from the given ones that will complere the series.

Ans X 1. MNR
X 2. WRQ
X 3. NRQ
o 4 WNI
Question ID : 264330190267
Option 1 ID : 264330744651
Option 2 ID : 264330744650
Option 3 ID : 264330744653
Option 4 ID : 264330744652
Status : Answered
Chosen Option : 4
Q.16 Which of the following groups of letters when sequentially placed from left to right will complete the given series?
abb_dabbe abb dab cd bbed
Ans 1. cdcba
X 2. ddbca
X 3. cbeda
X 4. abeda
Question ID : 264330191549
Option 1 ID : 264330749550
Option 2 ID : 264330749551
Option 3 ID : 264330749553
Option 4 ID : 264330749552
Status : Answered
Chosen Option : 1
Q17 If20A25B70C7=5and30A40B75C 15=-5,then4AI0B8C2="2
Ans X' 1. 0
X 2. 3
73 2
Xa ]
Question ID : 264330190461
Option 1 ID : 264330745426
Option 2 ID : 264330745429
Option 3 ID : 264330745427
Option 4 ID : 264330745428
Status : Answered
Chosen Option : 3
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Q.18 A piece of paper is folded and punched as shown below in the question figures. From the given option figures, indicate
how it will appear when opened?

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330190446
264330745368
264330745369
264330745366
264330745367
Answered

1
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#AB#CBAC,?
BIC||C|A||A|3||#]|B||
X1.#A

C|B
XZ.A:H:

B|C
. 3| C

BlA

#[ A
4

B|IC

Q.19 In the following question. select the figure which can be placed at the sign of question mark (7) from the given

Question ID :
Option 11D :

Option 2 ID

Chosen Option

264330190182
264330744310

1264330744312
Option 31D :
Option 4 ID :

Status :
14

264330744313
264330744311
Answered

113, 115, 119, 2, 133, 143
Ans X 1. 128
K2 128
<3130
o 4 125

Q20 1p the following question. select the missing number from the given series.

Question ID

Option 2 ID
Option 3 ID
Option 4 ID

Status

1264330187430
Option 11D :

264330733649

1264330733648
1 264330733650
1264330733651
: Answered

Chosen Option :

4

Section : Part-B-General Knowledge and General awareness
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Q1 is an asset that the borrower owns (such as land, building. vehicle, livestock, deposits with banls) and uses
this as a guarantee o a lender until the loan is repaid.

Ans 1. Collateral
X 2. Debts
X 3. Fixed Assets
X 4 Liability

Question ID : 264330191465
Option 1 ID : 264330749217
Option 2 ID : 264330749215
Option 3 ID : 264330749214
Option 4 ID : 264330749216
Status : Answered
Chosen Option : 3
Q2 AgaKhan Cup' is associated with the game of
Ans X 1. Football
« 2. Hockey
X 3. Motor Race
X 4. Horse Race
Question ID : 264330190922
Option 1 ID : 264330747045
Option 2 ID : 264330747042
Option 3 ID : 264330747044
Option 4 ID : 264330747043
Status : Answered
Chosen Option : 1
Q.3 Ppandit Hariprasad Chaurasia, is a world-renowned exponent of the
Ans X 1. gitar
« 2. bansuri
X 3. guitar
X 4. tabla
Question ID : 264330190897
Option 1 ID : 264330746942
Option 2 ID : 264330746944
Option 3 ID : 264330746945
Option 4 ID : 264330746943
Status : Answered
Chosen Option : 2
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Ans X 1. Renewable energy

X 2. Space exploration
+ 3. Agriculture and food production

& 4. Environmental conservation

Q4 Dr. Norman Borlaug, a Nobel laureate, is known for his contributions to:

Question ID : 264330190945
Option 1 1D : 264330747137
Option 2 ID : 264330747136
Option 3 ID : 264330747135
Option 4 1D : 264330747134
Status : Answered
Chosen Option : 3
QS5 fpfafad # 3 fog de el R 90 31 SaR 3 9k 98 FX I H Sa I B 87
Ans
X1 aRE; & (Breaststroke)
X 2. Tpl IT5W (Freestyle)
v & §HEID (Backstroke)
x 4 Eiﬁ?'ﬁ’llé (Butterfly)
Question ID : 264330188688
Option 1 1D : 264330738556
Option 2 ID : 264330738554
Option 3 ID : 264330738555
Option 4 ID : 264330738557
Status : Answered
Chosen Option : 3
@6 The Doctrine of Lapse was devised by Governor General
Ans X 1. Lord Wellesley
X 2. Lord Hastings
X 3. Lord Clive
+ 4 Lord Dalhousie
Question ID : 264330191076
Option 11D : 264330747660
Option 2 ID : 264330747661
Option 3 ID : 264330747658
Option 4 ID : 264330747659
Status : Answered
Chosen Option : 4
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Chosen Option :

Q.7 The number of oscillations per second is called of oscillation.
Ans &1 frequency
X 2. amplitude
X 3. pitch
X 4. hertz
Question ID : 264330188817
Option 1 ID : 264330739071
Option 2 ID : 264330739072
Option 3 ID : 264330739073
Option 4 ID : 264330739070
Status : Answered
Chosen Option : 1
Qs ) fa HIRd o1 Haea veE i €, Bl 9ae & & i ue dioRee Sidt e, for v warwEl
g gl
Ans X 1. PRIl
v 2 JPAfd
X3 TR
X 4. Tﬁ'qj)(
Question ID : 264330191861
Option 1 1D : 264330750799
Option 2 ID : 264330750801
Option 3 ID : 264330750798
Option 4 ID : 264330750800
Status : Answered
Chosen Option : 2
Q9 gy BT uIeH ¥ $iR Iub ez, TUTf, A w@ol SR AT B SMIeR B T8 HR Gfaye 7 i@
&3 gl
Ans
v gt daA
X 2 Hifet DR
X2 e
X 4. ﬁ%f_qﬁ; m
Question ID : 264330191860
Option 11D : 264330750795
Option 2 ID : 264330750794
Option 3 ID : 264330750797
Option 4 ID : 264330750796
Status : Answered

1
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Ans

X 1. Seven
+ 2. Nine
X 3. Five

X 4. Three

Q.10 How many Vande Bharat trains were flagged off by Prime Minister Narendra Modi via video conferencing on
September 24, 20237

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330188774
264330738900
264330738901
264330738899
264330738898
Answered

1

Ans

Q.11 In India, the dependency ratio of children is a measure of the number of dependents aged

X1 0to2l
¥ 2 0to 14
X3 0tol6
X4 0to 18

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330190594
264330745961
264330745958
264330745959
264330745960
Not Answered

Ans

Q12 Tylip festival is related to which of the following state/UTs?
+ 1. Jammu & Kashmir

X 2. Kerala
X 3. Tripura

& 4. Tamil Nadu

Question ID :
Option 11D :
Option 21D :
1264330738749
Option 4 ID :
Status :

Chosen Option :

Option 3 ID

264330188736
264330738746
264330738747

264330738748
Answered
1
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Q.13 Jatin Goswami received several awards for his contribution to which dance style?

Chosen Option :

Ans 1 Sattriva
X 2. Kathak
# 3. Bharatnatyam
X 4. Kathakali
Question ID : 264330190618
Option 1 ID : 264330746057
Option 2 ID : 264330746055
Option 3 ID : 264330746054
Option 4 ID : 264330746056
Status : Answered
Chosen Option : 3
Q.14 The Ministry of Finance has recently launched the Mahila Samman Savings Certificate,
Ans X 1. 2020
¥ 2 2023
3. 2021
X4 2022
Question ID : 264330191087
Option 1 ID : 264330747702
Option 2 ID : 264330747705
Option 3 ID : 264330747703
Option 4 ID : 264330747704
Status : Answered
Chosen Option : 2
Q15 Which sector of the economy focuses on intellectual activities and innovation?
Ans X 1. Secondary Sector
X 2. Unorganised Sector
+ 3. Quaternary Sector
X 4. Primary Sector
Question ID : 264330191307
Option 11D : 264330748583
Option 2 ID : 264330748585
Option 3 ID : 264330748584
Option 4 ID : 264330748582
Status : Not Answered
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1 fhdpe T Tl (Gully) fRyfer gt 21

Ans

X1 W%Tﬂﬁaﬁ(t}ehind covers)
X 2. %ﬂﬂﬁ@ﬁ%ﬂﬂﬁ%@ame as slip)

v 3 Uise 3R Y & |9 Bl (between point and slip)
X 4 Uige oI FRIfd $ THM T (same as point)

Question ID

Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

Status :
Chosen Option :

1264330191442
264330749125
1264330749124
264330749122
1264330749123
Not Answered

Ans

X 1. David Malpass

A 2. Robert E Lucas

+ 3. Ajay Banga

X 4. Miguel Diaz-Canel

Q17 Who has been selected as the new World Bank President in May2023?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330191729
264330750271
264330750270
264330750272
264330750273
Answered

3

Ans

X 1. Kumaragupta I
+ 2. Chandragupta-II
X 3. Samudragupta
X 4. Chandragupta-I

Q.18 Wluch Gupta ruler was known for defeating the Sakas in western regions, assuming the title of "Vikramaditva' 7

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330190855
264330746774
264330746777
264330746775
264330746776
Answered

2
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Q.19 According to the 2011 census, which of the following states is the least populated state in India?
Ans X 1. Himachal Pradesh
+ 2. Sikkim
X 3. Kerala
X 4. Madhya Pradesh
Question ID : 264330191754
Option 1 ID : 264330750372
Option 2 ID : 264330750373
Option 3 ID : 264330750371
Option 4 ID : 264330750370
Status : Answered
Chosen Option : 2
Q20 yWhich dance style is incorporated with both the Tandava and Lasya?
Ans X 1. Odissi
X 2. Kathak
« 3. Manipuri
X 4. Bharatnatyam
Question ID : 264330190630
Option 1 ID : 264330746103
Option 2 ID : 264330746104
Option 3 ID : 264330746105
Option 4 ID : 264330746102
Status : Not Answered
Chosen Option : --
Section : Part-C-Elementary Mathematics
Q.1 The selling price of a car is Rs. 11440, If the car is sold at a discount of 45 percent, then what will be the marked price
of the car?
Ans X 1. Rs. 20300
X 2. Rs. 21050
« 3. Rs. 20800
& 4. Rs, 19850
Question ID : 264330187809
Option 1 ID : 264330735164
Option 2 ID : 264330735166
Option 3 ID : 264330735165
Option 4 ID : 264330735167
Status : Answered
Chosen Option : 3
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Q.2  The ratio of two numbers is 3: 1. The sum of their squares is §10. What is the sum of the numbers?

Ans X 1. 27
« 2. 36
X3 24
X 4. 60
Question ID : 264330188092
Option 1 ID : 264330736299
Option 2 ID : 264330736297
Option 3 ID : 264330736296
Option 4 ID : 264330736298
Status : Answered
Chosen Option : 2
Q3 The radius of a sphere is 4.2 cm. What is the total surface area of the sphere?
Ans
X 1. 248.36 cm?
X 2. 176.98 cm?
X 3.196.52 cm?
&4 221.76 cm?
Question ID : 264330187258
Option 1 ID : 264330732963
Option 2 ID : 264330732960
Option 3 ID : 264330732962
Option 4 ID : 264330732961
Status : Answered
Chosen Option : 4
Q.4 Income of A ls 20 percent more than the income of B and income of B is 30 percent more than the income of €. The
income of C is (approximately) how mmch percentage less than the income of A?
Ans X 1. 40 percent
« 2. 36 percent
X 3. 32 percent
X 4. 30 percent
Question ID : 264330187686
Option 11D : 264330734673
Option 2 ID : 264330734672
Option 3 ID : 264330734674
Option 4 ID : 264330734675
Status : Answered
Chosen Option : 2
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Q.5

Ans

What is the value of 540 — 270+ 5 + 34 = 27

« 1. 554
X2 518
XK 3. 496
X 4. 532

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

264330188552
264330738013
264330738011
264330738010
264330738012
Answered

1

Q.6

A man earns a profit of 10 percent by selling a mobile for a certain price. If he sells that mobile at double the price, then
what will be the profit percentage?

Ans 1. 120 percent
X 2. 140 percent
X 3. 130 percent
X 4. 100 percent
Question ID : 264330187687
Option 1 ID : 264330734678
Option 2 ID : 264330734677
Option 3 ID : 264330734679
Option 4 ID : 264330734676
Status : Answered
Chosen Option : 1
Q.7 A.Band C alone can de a work in 10, 12 and 15 days respectively. All three of them began the work together but B left
3 days before completion of the work. In how many days was the work completed?
Ans X 1. 3 days
2. 5 days
X 3. 4 days
X 4. 2 days
Question ID : 264330187857
Option 1 ID : 264330735359
Option 2 ID : 264330735356
Option 3 ID : 264330735357
Option 4 ID : 264330735358
Status : Marked For Review
Chosen Option : 1
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cost price of the pen?

Ans X 1. Rs. 17000

Q.8  Hiten marks his pen at Rs. 28875 and after allowing discount of 20 percent, he still earns 40 percent profit. What is the

Chosen Option :

X 2. Rs. 16800
¥ 3. Rs. 16500
X 4. Rs. 16000
Question ID : 264330187950
Option 1 ID : 264330735730
Option 2 ID : 264330735731
Option 3 ID : 264330735728
Option 4 ID : 264330735729
Status : Answered
Chosen Option : 3
Q.9 What s the compound interest for | vear on a sum of Rs. 7000 at the annual rate of 36 percent compounding half
yearly?
Ans 1. Rs. 2746.8
X 2. Rs. 3088.8
X 3. Rs. 2878.8
X 4 Rs, 20288
Question ID : 264330190382
Option 1 ID : 264330745112
Option 2 ID : 264330745110
Option 3 ID : 264330745113
Option 4 ID : 264330745111
Status : Answered
Chosen Option : 1
Q.10 Sohan alone can do a work in 18 days and Mohan alone can do the same work in 36 davs. In how many davs will they
together complete the same work?
Ans &1 12 days
X 2. 11 days
X 3. 15 days
X 4. 14 days
Question ID : 264330187736
Option 1 ID : 264330734873
Option 2 ID : 264330734874
Option 3 ID : 264330734872
Option 4 ID : 264330734875
Status : Answered

1
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QM1 Which of the following number is divisible by 97
Ans X 1. 2254
2. 4248
X 3. 4848
X 4. 5848
Question ID : 264330187301
Option 1 ID : 264330733133
Option 2 ID : 264330733132
Option 3 ID : 264330733134
Option 4 ID : 264330733135
Status : Answered
Chosen Option : 2
Q.12 The average of 15 numbers i5 33 and the average of 33 numbers is 15. Find the average of all the numbers.
Ans X' 1. 27.25
X2 1555
¥3. 20.625
X4 2255
Question ID : 264330191653
Option 1 ID : 264330749968
Option 2 ID : 264330749966
Option 3 ID : 264330749967
Option 4 ID : 264330749969
Status : Marked For Review
Chosen Option : 3
Q.13 If Sundar borrows Rs. 45000 from Jethalal at rate of interest 8% per annum simple interest.
How much interest Sundar has to pay at the end of five years ?
Ans X 1. Rs. 21000
X 2. Rs. 24000
X 3. Rs.15000
« 4 Rs. 18000
Question ID : 264330192302
Option 11D : 264330752564
Option 2 ID : 264330752565
Option 3 ID : 264330752562
Option 4 ID : 264330752563
Status : Answered
Chosen Option : 4
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Q.14 By selling an article for Rs. 1600 a dealer loses 20 percent. At whar price should he sell the article to earn a profit of 25

percent?

Ans X 1. Rs. 3000

X 2. Rs. 2400

A 3. Rs. 2000

« 4 Rs. 2500
Question ID : 264330188621
Option 1 ID : 264330738289
Option 2 ID : 264330738286

Option 3 ID : 264330738287
Option 4 ID : 264330738288
Status : Answered
Chosen Option : 4

Q.15 What should be subtracted from 980 so that the number obtained will become equal to 40 percent of 13507
Ans 1. 440

X 2. 460
X 3. 430
X 4. 450

Question ID : 264330187305
Option 1 ID : 264330733148
Option 2 ID : 264330733150
Option 3 ID : 264330733151
Option 4 ID : 264330733149
Status : Answered
Chosen Option : 1

Q.16 Inanexam, Ramesh got 85, 123, 54, 98, 63 and 45 marks in as many subjects. Which of the following is the average
marks of Ramesh in thoze subjects?

Ans X 1. 82
2 78
X3 68
X 4. 76

Question ID : 264330192472
Option 1 ID : 264330753243
Option 2 ID : 264330753242
Option 3 ID : 264330753244
Option 4 ID : 264330753245
Status : Answered
Chosen Option : 2
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Q.17  Find the largest number that divides 68, 102, and 136 to leave the same remainder in each case.

Ans X' 1, 33
V2 34
X3 5]
X417
Question ID : 264330191671
Option 1 ID : 264330750038
Option 2 ID : 264330750039
Option 3 ID : 264330750041
Option 4 ID : 264330750040
Status : Answered
Chosen Option : 2
Q.18 What will be the ratio of the Least Common Multiple and Highest Common Factor of 110. 11 and 2207
Ans X 1. 80:1
<2 61
X3 40:1
o4 2001
Question ID : 264330187862
Option 1 ID : 264330735379
Option 2 ID : 264330735378
Option 3 ID : 264330735377
Option 4 ID : 264330735376
Status : Answered
Chosen Option : 4
Q19 1f 4T =3V = 128, then what is the value of T: V : S?
Ans X' 1. 5:3:1
w2 3:4:1
X3 4:3:1
K4 3:1:4
Question ID : 264330187711
Option 1 ID : 264330734774
Option 2 ID : 264330734775
Option 3 ID : 264330734772
Option 4 ID : 264330734773
Status : Answered
Chosen Option : 2
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opposite directions. If the speed of both the trains is same, then whar is the speed?

Ans X 1. 129 km/hr

Q.20 A wain of length 640 metres crosses a another train of length 920 metres in 24 seconds. Both the trains are running in

+ 2 117 kmv/hr
X 3. 136 km/hr
X 4. 105 km/hr
Question ID : 264330187875
Option 1 ID : 264330735429
Option 2 ID : 264330735428
Option 3 ID : 264330735431
Option 4 ID : 264330735430
Status : Answered
Chosen Option : 2
Section : Part-D-English
Q.1 The sentence has been divided into three partz. identify the segment which contains a spelling error in the sentence
given below. Choose no ervor if there is no error in the sentence,
The proffessor noticed a misspelled word in' the smdent's essay and pointed our the/ error during the elass discussion.
Ans X 1. no error
X 2. the student's essay and pointed out the
+ 3. The proffessor noticed a misspelled word in
X 4. error during the class discussion.
Question ID : 264330186399
Option 11D : 264330729815
Option 2 ID : 264330729813
Option 3 ID : 264330729812
Option 4 ID : 264330729814
Status : Answered
Chosen Option : 4
Q2 Choose the word that is opposite in meaning to the given word.
Anonymity
Ans X 1. Cachet
X 2. Sjlence
+ 3. Importance
X 4. Bareness
Question ID : 264330186794
Option 11D : 264330731317
Option 2 ID : 264330731316
Option 3 ID : 264330731318
Option 4 ID : 264330731319
Status : Answered
Chosen Option : 3
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Ans

Q.3 Choose the most appropriate antonym of the underlined word.

Many of these losses were due to the utter incompetence of the higher command.

Chosen Option :

X 1. Inability
< 2. Boredom
X 3. Lacuna
« 4. Adept
Question ID : 264330185576
Option 11D : 264330726676
Option 2 ID : 264330726678
Option 3 ID : 264330726677
Option 4 ID : 264330726679
Status : Answered
Chosen Option : 4
Q.4  Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
In many ways, this is the best time in history to be alive.
Ans 1. No error
X 2. history to be alive
A 3. is the best time in
X 4. In many ways, this
Question ID : 264330186298
Option 11D : 264330729431
Option 2 ID : 264330729430
Option 3 ID : 264330729429
Option 4 ID : 264330729428
Status : Answered
Chosen Option : 2
Q.5  Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
People are acting the way evolution have wired them.
Ans X 1. No error
X 2. the way evolution
+ 3. have wired them
X 4. People are acting
Question ID : 264330186067
Option 11D : 264330728551
Option 2 ID : 264330728549
Option 3 ID : 264330728550
Option 4 ID : 264330728548
Status : Answered

1
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word/ words,

Ans X 1.

2

X 3.

X 4.

Q.6 Foursentences are given. out of which three have all correct spellings. Choose the sentence with the incorrect spelt

Beyond the inky sea and far up that high, black shadow of a hill lived the Divers.

This preparation for bonds. and the additional igneminy it inferred, took a little of the excitement out of me.
Marner wanted the heaps of ten to grow into a square, and then into a larger square.

The judge said he could hug him for them words; so he cried, and his wife she cried again.

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :
Status :

Chosen Option

264330186946
1264330731897
264330731896
1264330731899
264330731898
Answered

12

if there is no error in the sentence.

promotion.

Ans X 1. earned the well-deserved promotion.

£ 2. no error

X 4. to achieve her goals and ultimately

Q.7  The sentence has been divided into three parts, identify the error segment in the sentence given below. Choose no error

Despite facing numerous chatlenges. she worked hardly/ to achieve her goals and ultimately/ earned the well-deserved

+ 3. Despite facing numerous challenges, she worked hardly

Question ID : 264330186444
Option 1 1D : 264330729986
Option 2 ID : 264330729987
Option 3 ID : 264330729984
Option 4 ID : 264330729985
Status : Answered
Chosen Option : 1
Q8  gelect the most appropriate synonym of the given word.
Bait
Ans X 1. Greed
& 2. Food
X 3. Repulsion
« 4 Allurement
Question ID : 264330186499
Option 1 1D : 264330730194
Option 2 ID : 264330730195
Option 3 ID : 264330730192
Option 4 ID : 264330730193
Status : Answered
Chosen Option : 1
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correct.

It will pone rained in the West this summer.

Q.9 Improve the underlined part of the sentence. Choose ‘Mo improvement® as an anawer if the sentence i3 grammatically

Ans X 1. no rained
X 2. not have raining
+ 3. not rain
X 4. No improvement
Question ID : 264330186175
Option 1 ID : 264330728962
Option 2 ID : 264330728960
Option 3 ID : 264330728961
Option 4 ID : 264330728963
Status : Answered
Chosen Option : 2
Q10 Select the most appropriate word to fill in the blank.
She is the dancer in the competition
Ans X 1. bad
X 2. baddest
& 3. worse
« 4. worst
Question ID : 264330186764
Option 11D : 264330731207
Option 2 ID : 264330731206
Option 3 ID : 264330731205
Option 4 ID : 264330731204
Status : Answered
Chosen Option : 4
Q.11 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.
They are working very hard in less time to make the presentation on time.
Ans 1. Scapegoat
X 2. Off on the wrong foot
+ 3. Working against the clock
& 4. Til the cows come home
Question ID : 264330186019
Option 11D : 264330728365
Option 2 ID : 264330728366
Option 3 ID : 264330728367
Option 4 ID : 264330728364
Status : Answered
Chosen Option : 3
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Q.12 Inthe following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom Phrase.
To pop the question

Ans 1. To propose marriage

X 2. To ask a nonsense question
X 3. To mark important details

X 4. To give a wrong answer

Question ID : 264330185724
Option 1 ID : 264330727240
Option 2 ID : 264330727241
Option 3 ID : 264330727243
Option 4 ID : 264330727242
Status : Answered
Chosen Option : 2
Q.13 Improve the underlined part of the sentence. Choose “No impravement’ as an answer if the sentence is grammatically
correct.
The scientists have so far focussed on improve cropped yields.
Ans X 1. improves crop
X 2. No improvement
« 3. improving crop
X 4. improved cropping
Question ID : 264330186069
Option 1 1D : 264330728556
Option 2 ID : 264330728559
Option 3 ID : 264330728557
Option 4 ID : 264330728558
Status : Answered
Chosen Option : 3
Q.14 Improve the underlined part of the sentence. Choose ‘“No impravement’ as an answer if the sentence is grammatically
correct.
TI'm not going to work today.
Ans 1. No improvement
X 2. go to work
X 3. goes to work
X 4. going to working
Question ID : 264330186195
Option 1 1D : 264330729039
Option 2 ID : 264330729036
Option 3 ID : 264330729037
Option 4 ID : 264330729038
Status : Answered
Chosen Option : 2
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Q15 Select the most appropriate option for the given blank.

Your sisteris  advantage of my situation.
Ans X 1. pulling
+ 2. taking
X 3. parting

X 4. refurning

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330185791
264330727496
264330727498
264330727499
264330727497
Answered

2

Comprehension:

the most appropriate option for each number.

would be (2) if 1 came upon him with his breakfast. in that unexpected manner, so I went (3)

remember who he was.

SubQuestion No : 16

Ans X 1. below

X 2. beyond

« 3. towards

X 4. above

Q16 Select the most appropriate option to fill in the blank No. 1.

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select

His back was (1) me, and he had his arms folded, and was nodding forward, heavy with sleep, I thought he

softly

and touched him on the shouldsr. He (4) Jjumped up. and it was not the same man, but another man! And there
he was. looking bewilderad and disoriented. as if he had (5) awakened from a deep dream. In his eyes, I saw
a mix of fear and confusion, as if he was struggling to recognize the world around him, or perhaps, strugeling 1o

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option

1 264330186893

264330731694
264330731692
264330731693
264330731695
Answered

03
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

His back was (1) me, and he had his arms folded, and was nodding forward, heavy with sleep, I thought he

would be (2) if 1 came upon him with his breakfast. in that unexpected manner, so I went (3)

softly
and touched him on the shouldsr. He (4) Jjumped up. and it was not the same man, but another man! And there
he was. looking bewilderad and disoriented. as if he had (5) awakened from a deep dream. In his eves. I saw
a mix of fear and confusion, as if he was struggling to recognize the world around him, or perhaps, strugeling 1o
remember who he was.
SubQuestion No : 17
Q17 Select the most appropriate option to fill in the blank No. 2.
Ans X 1. most glad
< 2. gladdest
< 3. more gladder
" 4. glad
Question ID : 264330186894
Option 11D : 264330731699
Option 2 ID : 264330731696
Option 3 ID : 264330731697
Option 4 ID : 264330731698
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have besn deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.
His back was (1) me, and he had his arms folded, and was nedding forward, heavy with sleep, I thought he
would be (2) if 1 came upon him with his breakfast. in that unexpected manner, so I went (3) softly
and touched him on the shouldsr. He (4) Jjumped up. and it was not the same man, but another man! And there
he was. looking bewilderad and disoriented. as if he had (5) awakened from a deep dream. In his eyes, I saw
a mix of fear and confusion, as if he was struggling to recognize the world around him, or perhaps, strugeling 1o
remember who he was.
SubQuestion No : 18
Q18 Select the most appropriate option to fill in the blank No. 3.
Ans X 1. onward
+ 2. forward
X 3. before
X 4. forth
Question ID : 264330186895
Option 11D : 264330731701
Option 2 ID : 264330731703
Option 3 ID : 264330731702
Option 4 ID : 264330731700
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some words have besn deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

His back was (1) me, and he had his arms folded, and was nodding forward, heavy with sleep, I thought he

would be (2) if 1 came upon him with his breakfast. in that unexpected manner, so I went (3) sofily
and touched him on the shouldsr. He (4) Jjumped up. and it was not the same man, but another man! And there
he was. looking bewilderad and disoriented. as if he had (5) awakened from a deep dream. In his eyes, I saw

a mix of fear and confusion, as if he was struggling to recognize the world around him, or perhaps, strugeling 1o
remember who he was.

SubQuestion No : 19

Q19 Select the most appropriate option to fill in the blank No. 4.

Ans X 1. gracefully

X 2. tardily
X 3. constantly

« 4. instantly

Question ID : 264330186896
Option 1 1D : 264330731707
Option 2 ID : 264330731706
Option 3 ID : 264330731705
Option 4 ID : 264330731704
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.
His back was (1) me, and he had his arms folded, and was nedding forward, heavy with sleep, I thought he
would be (2) if 1 came upon him with his breakfast. in that unexpected manner, so I went (3) sofily
and touched him on the shouldsr. He (4) Jjumped up. and it was not the same man, but another man! And there
he was. looking bewilderad and disoriented. as if he had (5) awakened from a deep dream. In his eyes, I saw
a mix of fear and confusion, as if he was struggling to recognize the world around him, or perhaps, stugeling 1o
remember who he was.
SubQuestion No : 20
Q20 Select the most appropriate option to fill in the blank No. 5.
Ans X 1. 50
2. just
X 3 after
< 4. therefore
Question ID : 264330186897
Option 11D : 264330731708
Option 2 ID : 264330731710
Option 3 ID : 264330731709
Option 4 ID : 264330731711
Status : Answered
Chosen Option : 2

Section : Part-D-Hindi
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T ORI ol Ridesrd I Feft 23l |
Ans x 1. ﬁ_cﬂaﬂa.

SRR RIEA|

X 3. lepTa

v 4 Jfddra

! feu Ty O H Ywifed Wee & 1w 98l ad 3 S

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330189013
264330739840
264330739838
264330739841
264330739839
Not Answered

Q.2 FrfafET v &, 9% Reedt #§ @, 37 T8 BT & 997 w7 = st F {w ws o &7 e

Chosen Option :

&
S #F T ar
Ans X 1. 3UTE
X 2. AT
x5 srfasaT
4 AT
Question ID : 264330189739
Option 1 ID : 264330742602
Option 2 ID : 264330742605
Option 3 ID : 264330742603
Option 4 ID : 264330742604
Status : Not Answered
Chosen Option : --
Q3 Ry e § Ifd S-S Wsg BT 90 B Rad @I 1 Ifd S|
HHA B BB YR 5
Ans x .
" Ul
X2 HHRH
X 3. EE:{'
w4, E” i”
Question ID : 264330190023
Option 1 ID : 264330743686
Option 2 ID : 264330743689
Option 3 ID : 264330743687
Option 4 ID : 264330743688
Status : Not Answered
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Q.4

Ans

U U a1 &1 98 YT 31d &Y, o Big 3fC g

E T 91, 4 i aelchdl 3R &l dIeh| ol &1 8|
X1 o H oG

X 2. 3R &l Sl

X 3. I & G|

v 4 TE O deiddl

Chosen Option :

Question ID : 264330189059
Option 1 ID : 264330740014
Option 2 ID : 264330740016
Option 3 ID : 264330740017
Option 4 ID : 264330740015
Status : Not Answered
Chosen Option : --
Q.5 Frgfafed vy & T famedt 79, 39 fomed & 75 $% o e R % 60 921 J1aares S v fdee gl
BEeEA I A ! THZHT 95 T g
Ans .
< TRl
X 2. $§
X 3. 57 |S|g€
A 4 Oy
Question ID : 264330189919
Option 1 ID : 264330743293
Option 2 ID : 264330743290
Option 3 ID : 264330743291
Option 4 ID : 264330743292
Status : Not Answered
Chosen Option : --
Q.6
TGU U 2[sg &1 YgiTardl F1d Sifo |
Ans 1. I3
K2 R
X W
X 4. ﬁ‘{
Question ID : 264330190014
Option 1 ID : 264330743651
Option 2 ID : 264330743652
Option 3 ID : 264330743653
Option 4 ID : 264330743650
Status : Not Answered
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7 fau Y aren A 3 wafaarh Wse B 9ae e Rad wF #1 Ol B4
PG AT (M) B WM &
Ans x 1. W
X 2. Goi
xs Fogw
v 4 g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

264330189469
264330741577
264330741576
264330741574
264330741575
Not Answered

Q.8 ol vy IR foee ¥ 9 39 9wy o1 w07 =4 o fiaa =i & g ot o aren fasea 21

ot SR ¥ Io @ R 3 SaTe & o IR SR U HR SEa Gal 3, 5808 ¢ A d g an &
fere gad e

A 1 fr
X 2. gdlfds
X 3 fBue
4 ggdR

Chosen Option :

Question ID : 264330189921

Option 11D : 264330743298

Option 2 ID : 264330743301

Option 3 ID : 264330743300

Option 4 ID : 264330743299

Status : Not Answered

Chosen Option : --
Q9 R=fafET Ted &, 91 Awedt & 4, 37 BFeT &1 904 #f 3 Fives # 2r 7w ag ¥ Ew ae
FT TET e &
Tore-Forelr 1 &8 T & @A 7 37 o & TF 9w e (meEh) ﬁsm§3-rr%|
Ans X 1. 3T
X2 AT
X3 fEers
V4 HTEET

Question ID : 264330189785

Option 1 ID : 264330742780

Option 2 ID : 264330742779

Option 3 ID : 264330742778

Option 4 ID : 264330742781

Status : Not Answered
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G feu w gty A Eifed Usg &1 f9dm Wse 1d B

e €1 g% ol o S
v 1. Edl

X2 e

X o qe

X 4 JforEr

Ans

Chosen Option :

Question ID : 264330189471
Option 1 ID : 264330741582
Option 2 ID : 264330741584
Option 3 ID : 264330741585
Option 4 ID : 264330741583
Status : Not Answered
Chosen Option : --
QN Frfefe oo #, 3@ Tty &t St Sesd At § e it § iy % e @ ¢
& wE g T  w g S
g Faer FHT F gHS & TG afed FANY FEpls RREd @ & o g s gEe & W & w9
# g g &
Ans : : :
X qEAT § W & & # 90 gdr ¢
X 2 AEpiae EUad gdr g S gH 3
LY = .
X 3. TS Fael FAT FT ghsT &1 gl aied AN
o 4. El—'ﬂé' JSI ra Flﬁ %'
Question ID : 264330189810
Option 1 ID : 264330742876
Option 2 ID : 264330742875
Option 3 ID : 264330742874
Option 4 ID : 264330742877
Status : Not Answered
Chosen Option : --
QA2 fagfafad us ¥, QU 7T ar fased @ 9, 39 e o1 909 4 ol fQU 18 Jei & ol &1 9ddy =9 9 =ed
F el
vl e
Ans
X 2. He g ol
X 3. J{UAT JH Y WY Gl Al
X 4. 3fUH-0 H IgP el
Question ID : 264330189221
Option 1 ID : 264330740630
Option 2 ID : 264330740632
Option 3 ID : 264330740633
Option 4 ID : 264330740631
Status : Not Answered
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I W 7 FR|
A" X 1. aRgde #1 e el B
X2 I9H R RIS A S|
X3 Y T Hd B
v 4 JH R S Hd IR |

13 3w Tu ary 7 Yaifed Weal & T Ol sl arel [idhed &1 99 HY

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status

Chosen Option :

264330189375
264330741221
264330741220
264330741218
264330741219
: Not Answered

Ans x 1. W
X 2. Adlel
X o fm
v 4 gIgH

Q14 o e o @ SR S-St Wsg T 99 S e ®H $1 gfd S|
fa_ &I'qH ol 39%1 &6 i el A% U]

Chosen Option :

Question ID : 264330189224
Option 1 ID : 264330740642
Option 2 ID : 264330740644
Option 3 ID : 264330740643
Option 4 ID : 264330740645
Status : Not Answered
Chosen Option : --
Q15 fapfafad us ¥, GU Tu ar fasadl 3§ 9, 39 et o1 999 &4 off fQU 18 e & ol &1 9ddy =0 ¥ =ed
B
Tigg HHDI
ek ffgd e
X 2. e fe@m
v 4 HHWR GRI YHBMT
Question ID : 264330190018
Option 11D : 264330743669
Option 2 ID : 264330743667
Option 3 ID : 264330743666
Option 4 ID : 264330743668
Status : Not Answered
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Comprehension:

i R Y T A P TG B BT § R URE e WF & OR W R AR H Y sE O
faehed Rad =M &l gfd S3aT-

T F ORT R S (1) Sldem e s gy ag e @) Adie e Ffw

A e Rl fP oM @l (1) W (5)___ IF a1 T g1 59 aR H ol &1 gt ot & Ay
=41 gR1|

SubQuestion No : 16
" R (1) & g we Iuged fdebe &1 99 S|
Ans x 1. ?fﬁ

v AR
X3 GHA

x4 st

Question ID : 264330189104
Option 1 ID : 264330740182
Option 2 ID : 264330740183
Option 3 ID : 264330740185
Option 4 ID : 264330740184
Status : Not Answered
Chosen Option : --
Comprehension:
e faw T T A e Ues B Y U E o Udw ad = & 9R fiew R g ST AR Ay Fh W
fameg frad RIF @1 gft ®-
T & WU USRI B (1) Pl dgaR S & 1Y 81 3F 31b (2) A dal B (3) & forg
e iR Fefhd feu o 1 @) W (5) B[ BT T8 | 5 S H oo g1 gereAl o o 91y
=41 grft
SubQuestion No : 17
Q.17 i -
8GN (2) %ﬁ E’IQ HY JUdd [ddhel [ U G2 @QI
Ans e
X 1. §||!
o 2. ﬁa—,{ﬁ
X3 e
X 4. T_naw
Question ID : 264330189105
Option 11D : 264330740188
Option 2 ID : 264330740186
Option 3 ID : 264330740187
Option 4 ID : 264330740189
Status : Not Answered
Chosen Option : --
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Comprehension:

i R Y T A P TG B BT § R URE e WF & OR W R AR H Y sE O
faehed Rad =M &l gfd S3aT-

T F RIS (1) SR NS AYE @ d (@ defesaiaiE)_ Fm

A e Rl fP oM @l (1) W (5)___ IF a1 T g1 59 aR H ol &1 gt ot & Ay
=41 gR1|

SubQuestion No : 18

" R (3) & g GeY Iuged [debe &1 994 S|
Ans X 1. aa—

X2 AlcH

X 3 UG

i

Question ID : 264330189106
Option 11D : 264330740191
Option 2 ID : 264330740192
Option 3 ID : 264330740190
Option 4 ID : 264330740193
Status : Not Answered

Chosen Option : --

Comprehension:

i o IO TR A B e BiS BU M R 9 UEE e WF & R ew R AR H Y sE W
ehed e v &) gfd S-

TR PR TREI Sl (1) Pl e e S AU @ 5ad 2)_ e daiai@)_ s

St e Ao U oM &1 (@) W (5)__ T a1 T g1 58 SR 7 ST ¢ Tt oft & |
T gRit

SubQuestion No : 19

" e (4) & o G I fAbed o1 9o S|
Ans  x 1 B

X2 gdHM

3 ol

X+ N

Question ID : 264330189107
Option 1 ID : 264330740197
Option 2 ID : 264330740194
Option 3 ID : 264330740196
Option 4 ID : 264330740195
Status : Not Answered

Chosen Option : --
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Comprehension:

famed frad =M @ gft Sv-

== Rl
SubQuestion No : 20

% e (5) & g GeY Iuged [debe &1 994 S|
avs o o

X 2 gig]

X 3. a-q

x: 5@

i R IO TR H B TG BiS BU M R 9% UEE e WF & 9R W R AR H Y sE O

T F ONT R S (1) Sldem e s gy A TR @) Adie daidie)_ Ffw
el ier [afd fPU S &1 (1) WR(5)___ U [Ha1TMIe | 50 aR H o6l &l GRAHA! off & 91y

Question ID

Option 2 ID

1 264330189108
Option 11D :

264330740199

1 264330740201
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330740198
264330740200
Not Answered
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